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k=1
num:= O;
fori:= 1 to 4 do
begin

readin(x);

if x mod 2 = 0 then

num := (num = 10)+ X

else
begin
k:= k » 10;
num := num+(X = Kk);
end;
end;

writeln(num);
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k =1;
num = O;
for (i =1;i<5;i++)
{

scanf("%d" , & X);
if (x%2 == 0)
num = (num « 10) +X;

else
{

k = k » 10;

num = num+(X * k);
}

}
printf("%d" , num);
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readin(num); scanf("%f", & num);
sum := O sum = G;
count := 0; count = O;
whilenum > 0 do while (num > 0)
begin {

sum = sum+ num; sum = sum+ num;
count := count +1; count = count +1,
readln(num); scanf("%f", & num);
end; }
writeln(sum / num); printf("%f", sum/num);
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function check(a, b : integer):integer;

begin
if b—a > 5then
check =1
else
check := 0O;
end;
2pv9
X := check(6, 2);
writeln(x);
a:=2
b =8

writeln(check);

m:= 7,

for i:==1to3do

writeln(check (i , m));
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int check(int a, int b)
{
if (b—a > 5)
returnl;
else
return O;

}
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x = check(6, 2); i
printf("%d" , x);

a =2 ii
b =8
printf("%d" , check);

m =7 iii
for(i = 1,1 < 4; i++4)
printf("%d" , check(i , m));
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count := O count = 0
fori:= 1 ton do for(i=0;i <nji++)
begin {
if gi] <> (b[i*2-1]) +(b[i* 2]) then if (@i]!'= (b[i*2]+b[i* 2+1]))
qi] = -1 qdi] = -1,
else else
count := count +1; count = count+1;
end; }
writeln(n — count); printf("%d" , n—count);
MIAYAY N = 5 MN2ya MIONN YOP MIXI INN APYN NIV NNYI PY i .N

0992 38V D DWN oY by a oownn

a 2 17 | 3 6 20

b 0 2 4 4 5 2 8 8 | 10 | 10

IPIONN YOP NN INNY A Twnn NN 0w i
N Py PN b TN My ymayav 5 5Tna a vin Twn owa LA

. 0 VYN AINY

/8 Tmya Jvnin/



+
602 ,899222 'oN YOVD PP AVNNND MYTN -8 -

(MM 20) YYIIVY P99

.10-9 MSNYHIN DNN DY MY

1,0 D90HN DN PIDRY STONIT TN Pm .9
T TIVNA TNIWIYT PTI)
DY2°2101 NRNDN NTINY DN DY 487 IN NNNDN 17V DN DY 989
. 199000 NX
SDIYIYI DYIDND 90N NXIN NIV TIN
TN, 1 99007 NN D¥INN TNN IDN P W HONWII NTINY IN MWD N17Iv1A DX
17 7wy
.0 77 PRIV TNR 7 NIYIY? PR OTYII NTINYI X ONIWID 17w DX
NN 7NIYIY? NP D30 NPND D21 NTINY D31 MY D2

773 "NIYAYII TN DN 1990070 NN 991 NI DN 7 Pmr XIP» TIvNa TN
NSO NI DAY DTNV PNIYIYIT TIND INY N8N NID N2Y

0N T

.. TI95W 4 x5 5711 TIyna

0 1 1 1 0 "qpm SOOI DINX MY W

| 9N
O 0 0 0 1 ”qp)}g”

3PNV ,mM1ON-NNn C-1)IN YpDoa 1D LN
1,0 019000 00 PIPNY 10x10 5THa as>TonayT 7wn —
(DOPTPN) TIWNI TN DY DIPN DOOINN DXNOW DIDDN NY - —
TINY PISN NIYN 100NN ,AINY PINND NPYNIN 19001
™IIN-NNN — NINN 9P AN NI 7Y AN ONX 1 PN M0N0~ Nnn
.0 NN

1,0 ©M90nn 0N PIPRY 10x10 57N as TN T Twn pm A
YW "DXAPINIT DN I9DN NN 7INNY  1MI5N C-2 N HPDoa 1INd
2009 171 790N PXM ,aTIvna
N PYDI NANOY NNON-NNA WHNvn
YNNI VWPY TNS PN MWD

/9 Tynya TN/ NN MPPN NN PITAY TN PN

+



+
602 ,899222 'oN YOVD PP AVNNND MYTN -9 -

DTNON 620 MNAYI INIP 1IOD DD NNNN PRI 19D M

nN2 ¥ ON .315 -5 1 Pa 990N DAY D1 TP .DYTIPA DIMDN NN DIDN
TP IMIND DYMDN 0N 90 IMND DXPMY 192

OPpY 28 NI TMOND 19D DI PNNI,TAN 990 MNSY PR TNon Yo

DYYNN DN PIYNI PNV DI9DN NIV DIVYND DN D THRONIN NN 190N M2

.D19010 NNNY 590N

DYTNIONN NIVYNI D9V DY TNRINN NN IN VIVPY ,DIPINVON NN .N

90N N DYYNY

STI9OV ii-i D2OWN 290 DNYIMNMONN NN NNAY POY
DTPIN DX IND, DDV NN 1NN ,0M”IPY DINWNL N2 i
DIOWNTNND MOYIAN IR P9 i
OND MNOYN-NNN DX 91935 DIIMOND DY
TRONY D900 DY DXTIPN IVIP» — TNON DY MNNA 290 *
PO TRONNY DXPMYN 1900 VIP ;990 TIP DI NIAYDY ;PNIH
.0990 TP VOP» IWYNI DPNON TNRONN NMNTN NVIOP . INN
D190 NAYA DOWY POYY DIDDN VDA INY THNION DY NN DPDI
POV
9901 VYD AN ,I9D TIP DI MY — DMIADN NIND NINTIN TIND *
DYYNN V9D AN AYINY 3D 1D D100 TOI NN WANNY DPMIYD

JINNNY D900 D MAya NNND Paynd 99010 N Dy HH10N

(NN MIYDY NDYD MYVL) NNIVH IN MMYN-NNNN DNX DD ITHN

.C 2N 5PD92 MIIN-NN MYSNNI MMYN-NNNN DNN DI DY

N PYDI NNMOY DNYMONND NN DY»NY 150N C 1IN Opooa no A
N PYO NOYMY NION NHN vNnhvn

OOPN MPPN DN PITAD TNN PN DIWVD

Inanbyna

ONIY NPTND NMIY DIV MR
VNADN MIAINN TIPNN TIVN MYID KON DDIFY X PPNV PR



